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Topic: Mathematics-Section A
Item No: 1

Question ID: 1169401

Question Type: | MCQ
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Topic: Mathematics-Section A

Item No: 2

Question ID: 1169402

Question Type: | MCQ
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Topic: Mathematics-Section A

Iltem No: 3

Question ID: 1169403

Question Type: | MCQ
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A 1000
B: 1024
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Topic: Mathematics-Section A

Item No: 4

Question ID: 1169404

Question Type: | MCQ
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A: —-10

B: —6

C: 6

D: 10

Topic: Mathematics-Section A

Item No: 5

Question ID: 1169405

Question Type: | MCQ
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B 1

C: 2

D 6

Topic: Mathematics-Section A

Item No: 6

Question ID: 1169406

Question Type: | MCQ
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Topic: Mathematics-Section A
Item No: 7

Question ID: 1169407

Question Type: | MCQ
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Topic: Mathematics-Section A
Item No: 8
Question ID: 1169408
Question Type: | MCQ
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Topic: Mathematics-Section A
Item No: 9
Question ID: 1169409
Question Type: | MCQ
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Topic: Mathematics-Section A

Item No: 10

Question ID: 11694010

Question Type: | MCQ
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A: 0

B: 1

C: 2

D: 3

Topic: Mathematics-Section A

Item No: 11

Question ID: 11694011

Question Type: | MCQ
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g6 28w & gax’ +)7 — 10x — 14y + 65 = 0 @ 6@g ¢12l690 T6w6a | AAFNAIR @’
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Topic: Mathematics-Section A

Item No: 12

Question ID: 11694012

Question Type: | MCQ
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Topic: Mathematics-Section A
Item No: 13
Question ID: 11694013
Question Type: | MCQ
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Topic: Mathematics-Section A
Item No: 14
Question ID: 11694014
Question Type: | MCQ
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Question: I0IeY 85 5 919 FRIFY 6290EF A°FY FING AGRT FITIIR ARG p 21, 6369
Op Qe :

A 1.0146

B: 1.2085

C: 1.0285

D: 1.1521

Topic: Mathematics-Section A

Iltem No: 15

Question ID: 11694015
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Topic: Mathematics-Section A

Item No: 16

Question ID: 11694016

Question Type: | MCQ
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Topic: Mathematics-Section A

Item No: 17

Question ID: 11694017

Question Type: | MCQ
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Question: 699 ¢I2l 698 68Tl AR P 98 x-2S 69 YeIe G968 U8 Iee 689Ig 98
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Topic: Mathematics-Section A

Item No: 18

Question ID: 11694018




Question Type:

MCQ

166949 6915~ B9s 4BC @ 918ag A(1, 1), B(—4, 3), C(-2,-5) | P, BC €l§ @084
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Topic: Mathematics-Section A

Item No: 19

Question ID: | 11694019

Question Type: | MCQ
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B: 4

C: 3

D: 2423

Topic: Mathematics-Section A

Item No: 20

Question ID: | 11694020

Question Type: | MCQ
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Topic: Mathematics-Section B
Item No: 21
Question ID: 11694021

Question Type:

Numeric Answer
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Topic: Mathematics-Section B
Item No: 22
Question ID: | 11694022

Question Type:

Numeric Answer

10 6615 QeI A9 FI-™AIG (F8) 8 9994 (RIR2Y) § 6915 818 FIRI @219 (SR

Question: @eIda 6a8R Glel QalIges 15 6° 15 fRaE, 6090168 GRGH9s 6615~ ASIE 15
OGieed 25 GBS, 6869 OF ARG 3545 (S.D) & FJAY 2168 |

Topic: Mathematics-Section B

Iltem No: 23
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Question Type:
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Topic: Mathematics-Section B

Item No: 24

Question ID: 11694024

Question Type:
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Topic: Mathematics-Section B

Item No: 25

Question ID: 11694025

Question Type:

Numeric Answer
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Topic: Mathematics-Section B
Item No: 26
Question ID: 11694026

Question Type:

Numeric Answer
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Topic: Mathematics-Section B

Iltem No: 27

Question ID: 11694027

Question Type:

Numeric Answer
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Topic: Mathematics-Section B
Item No: 28
Question ID: 11694028

Question Type:
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Topic: Mathematics-Section B

Item No: 29

Question ID: | 11694029

Question Type:

Numeric Answer
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Topic: Mathematics-Section B
Item No: 30
Question ID: 11694030

Question Type:

Numeric Answer
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Topic: Physics-Section A
Item No: 31
Question ID: 11694031
Question Type: | MCQ
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Topic: Physics-Section A

Item No: 32

Question ID: | 11694032

Question Type: | MCQ
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Question: ollE 60 aas G“Qﬁi awmm{aﬁaﬁu@@) 2IFIGER 96 cTIRSRI |t = 20s Qe
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v T
A I{.} 5 2{:} 5 -
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v
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Topic: Physics-Section A
Iltem No: 33
Question ID: 11694033
Question Type: | MCQ
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Topic:

Physics-Section A

Item No: 34
Question ID: 11694034
Question Type: | MCQ

2 m/s 69980 91T @FQE Q| QIFIG 6% 6T, AU I STEEm Il § 260 dXiGIm

Question: | 697, 92l QYIFl F1KI6E AFd GEIE 0.4 26T | YIOHER G4IGl § 697, 60 9 6219 aEd
6QIg 99 627 | 961 G66a QYIS T 96l 2687 @@l I [g=10m/s?]

A: 2m

B: 0.5m

C: 32m

D: 0.8 ms

Topic: Physics-Section A

Iltem No: 35

Question ID: | 11694035

Question Type: | MCQ

QIS 16 cm’ ISR SHETR QI §RE Al § DAFEE 100 em 9e° 150 cm &5
ard algisa gd @aigml | g8 9Ig 69 AR sRsam A7 @69l disl 09La A2

Question: Sdlzloiml | 99 Q@ glell @ 64gl64d 66l cER T R4 @ QRN 6REE 7 [‘E]ilaﬁa
a9@ =107 kg/m’ 96° g = 10 ms™]

A 0257

B: 17

C: 817
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Topic: Physics-Section A

Item No: 36

Question ID: 11694036

Question Type: | MCQ

986 43 921 BgAIS g9 90ge A Ie° B 929l 01006s Qa4 @E69 Q29691 3r

Question: \@° 4r QYIFIE 63 GRET | A @ 9Q67IS 6F1RGRIR 93 §. B 9 AL6AIS 6ARTRIRM 91T
Q AFAIS 629 ?

A: 9:16

B: 16:9

C: 11

D: 4:3




Topic:

Physics-Section A

Iltem No: 37
Question ID: 11694037
Question Type: | MCQ
&R Gel 998 Q99 10 J89Iel K; 1e° K, aq L; 1e° L, 92l Ji§ 94 688Tw
K> Ay g " _
el Ee AI ‘{]G‘“AQ 8l — =9 —=2,—-=2 grea. 9E60 WaldimEQl @Uadl
Ky Ay Ly

A5, 3R-906 8998 @ 2 2199l (683 689) GIUIG T 629 :

Question: S S
Furnace Ice box
asoec PSS 0C

Insulating
material

A 18°C

B: 14°C

C: 45°C

D: 150°C

Topic: Physics-Section A

Item No: 38

Question ID: 11694038

Question Type: | MCQ

0w 998 QEG:

Question:

(A) @@ ¢l BI'a ‘E]@‘E]I‘c‘ai gl @l GG 'E]lEIGi'qEIE?PL Yl Gél FRETEN.CAR Q GI0 FAR
2o gmoel LM |

(B) Qg 9I6% 6990 964 P 9e° Q Qi@ @8 @2 10°C0 9e° 20°C SIS
68 Q2% | AIQ° B gial @RS A2 Q AGAIS 1:1.15 AeS |

(C) 100K «18° 400K ¢1:I68 @I 99231 SI96RIS BIF Q 26! 75% 26T |

(D) eae e° adald F1usa gal Gladigl @ Jidaig o694 aasasn,

Som ol Bld HLa Do gugd sTImdl] | 0T B9 @lEtg:

A.B. C e@Q@@

A. B @R

A, C saaow

SRR P

B. C.D 6a9%

Topic:

Physics-Section A




Item No: 39
Question ID: 11694039
Question Type: | MCQ

A gig. AL ZLSR el 86 AIg 69 AT FIALIG) 60 9 FaIdnl 19¢ gia
214 @ el 2GS 1:4 99, 666

(A) gi€ rm.s. 636 G812 CIFER ATIG 622 |

(B) 9199 2GS @98 AIg6R 1:4 622 |

Question:
(C) o1 2gale 1:1 689 .
(D) rm.s 626 g4 2go @@Ll AIGET 1:4 699 |
0% V6N TG K0!

A: A 9" C Goaw

B: B +Q° D caaq

C: A9 B c@am

D: C 19" D caaw

Topic: Physics-Section A

Item No: 40

Question ID: 11694040

Question Type: | MCQ

985 U8 AFIF Q AR GIF § 98d8 09 2a’ §RGIER QSRS | 264 IR GIF qq

Question: 3 99 g9l 92 97 O FIFREa QSR | 93 qp § AIAIg FAITS ST GI2l SHM
@64 gy O RE @ 29 FIF 6FEG 62@ 7

A:

B:

C:

D:

Topic: Physics-Section A

Iltem No:

41




Question ID:

11694041

Question Type:

MCQ

IS emf 6 26 92 § I9LD A2 64411 YL FAUSR | IE @AeaaT § e Iy

Question: geeaud R 92 62IGIoI | 9% 92 Q A1SEe gesalk] 1) 9&° r, 6T (17 > 1;) | 9@
r; 2288 YOsak 291 92 §RIU6S SRISISA F7Y £, 6662 R @121 92 99T 629 ?
A: L3 Ao
nry
B: .
nr
"M—r
C: LML
2
D: = s
Topic: Physics-Section A
Item No: 42
Question ID: | 11694042
Question Type: | MCQ

GG @8 9IR 35 1° 4s ZIGERIRER ACISE JUEH 6197 KPES | 9E AFIFT @

Question: 2ig)d 56 (6716918 2T Berdzl) 3:2 2gaIea 24, 6969 6aCIGEE GU1E 2IgE
aAgaIe 6weT 68 ?

A: 2:1

B: 3:3

C: s

D: 27:16

Topic: Physics-Section A

Item No: 43

Question ID: 11694043

Question Type: | MCQ

e gaR1a 67862IR @ 45° 68 Rl AIRES 9IF AT G9 A2 60° 6RISER QET

Question: 2
| @ ewlgla QG@@ ?lﬁl"i CWED 68T 7
A: tan~) [.\EJ
B: tan~! (Jf_i]
=
i 2
C: tan ! '—]
) [*u's )




- 1

D: tan”! /:

{‘v 2)

Topic: Physics-Section A
Item No: 44

Question ID: 11694044
Question Type: | MCQ

4AQDC 99° 4 A AGR% Y a1 AC QalIgesl 3 ©18° 2 Q | gEeal] a9

Question: QRIZEe 62RER | AFIF 998 QIQIF 66 e 9FEaIY 67 98 626291 GlUa 25ale
Ewee 699 7

A: 3.2

B: 3:1

C: 3:4

D: 4:3

Topic: Physics-Section A

Item No: 45

Question ID: 11694045

Question Type: | MCQ

ARG T X159 &6 616 @gd 1e° 6I'a 8946 688 E,=900sin o(f —x/c) 865 IY-
194 @96 3 x 107 ms™! 6@616a 916 FQEQl =c 0% FUR Y6l 629G AT

Question: QR Gl §ARIA @RA FGAIG 6REE 629 ?
(Given speed of light =3 x 10% ms™)

A 1:1

B: 1:10

C: 10:1

D: 1:2

Topic: Physics-Section A

Item No: 46

Question ID: 11694046

Question Type: | MCQ

Question:

G CIDEFIERIT (214ENE) TeIee QIEER (air) 68 (TFFISIRIE-1) Ie° U6R 66RER
GeIoRI (IGHISRIE -2) A oo 6Fa @ Haa 2IeRIS AID FINEFIESIT Q Aen@et
FCIG! 6 JRTAR, CONER @6l 628 ?




v ; v 1
E0MER &9l mmud HFIGI(Resolving power). QIL6a gR el AF6! PRSI 1

A:
62IRAR |
5 69MES 29I Gemea BFI(Resolving power). QIGER g9 AEREE SN6 GRS
' gagd 62109 |
c EemES 2l Gemasr Bel(Resolving power). QIGER gQ AEREE SO6] FRFIER
' FIRgE 621D |
— — K L i) 1
D SOmGA g3l AT S1GI(Resolving power). QIGSS Y2 ARATST FGI gRTISR -
c2IRER |
Topic: Physics-Section A
Item No: 47
Question ID: | 11694047
Question Type: | MCQ

m 998 6 PERNTE AILIR JINES 699 | — vo i (v > 0) 2U6S. U@ TQIe 681G

Question: E=—Eyi (Ep>0) 69 @8 . 6090 E; Ya dae 265 198 ho= milh 29, 656 t
AL J6Q DEMFTR A P-69I0IM GO 656 6R6S 689 7
A: Ly
B: Lo [1 —_E—E{}t
v

C: Aol

ho
D: [l N EEDI]

FH'L’D
Topic: Physics-Section A
Item No: 48
Question ID: 11694048
Question Type: | MCQ

Question: 30 od 9@ael 1/161 qial § & QIegQl, 7 9T 0QIda AT F197 6R6E 629 ?
A 0.5 years

B 8.5 years

C: 7.5 years

D 10.5 years

Topic:

Physics-Section A




Item No: 49
Question ID: 11694049
Question Type: | MCQ

AER 669 986 A A 1e° B gaE 9nge Gl Y 218G e 265 | 96 8aQ 0o @
A A Be° Y aig ST |

|
Al
|
Question: |
B
|
|
Y |
nEw 66 AR &
A: AND &91%
B: OFR &elg
C: NOER. g9
D: NAND &g
Topic: Physics-Section A
Iltem No: 50
Question ID: 11694050
Question Type: | MCQ

@ G9e 6997 68 TV g°9fde 61816 & 9961 100 m 26e' | FINEAT 60 § 3794

Question: i) o i ~ .
@FaQl din o140 eTel g 6% YTel § 98 @qlda ?

A: 200 m

B: 300 m

C: 600 m

D: 000 m

Topic: Physics-Section B

Item No: 51

Question ID: 11694051

Question Type:

Numeric Answer




§74 @9 D < QIF1 999 30 cm §96R Fioml (G956 @di2 Q19T ) I9G R 5.6

kQ 4. 294l gosaly a Fa Q689 |
|, { e}
1 F L7
A R
Question: A ]
g T
G
010 20 30 40 50)6(] 70 80 90 100
I I ] ] 1 ] I ] ] ] ]
¢ >N >
30cm 100 -/
Topic: Physics-Section B
Item No: 52
Question ID: 11694052

Question Type:

Numeric Answer

e 62@ 9 e 85% Imm Ie° QIFAe 6am 8 10 Gase ¢8 6%m 0 0 Gaes
e Q1G24 | 90999 9 R ¢ 0929 § 24 R6R UG §5Y 81 62N FH4a
GITIEq 96T IG° 42 GATT (9 690 GRTe 92 @°d9e 58 (RI6T) | SAIRIFIA a8

Question: G 99 CIF FRIER 1S FRSIER. VTR 62A @ §FY 4.1em 9Q° 4.2cm FIIER QEL
el 6% QIR Ghaw 8N 6an FRena 9°AI9G REa .
QA gd  x 107 cm 629 |

Topic: Physics-Section B

Item No: 53

Question ID: | 11694053

Question Type:

Numeric Answer

196° 41 919619 gR& 26RIa a7 G46aad 21al 46 60 T Ale 98 @em | A

Question: 396a eag 3¢ @ 677 CIEg (919 Qlgg) 12 ¥e° B Oléa /3 2166 | 9G4 196!
xI 6TER X QG __ 689 |

Topic: Physics-Section B

Item No: 54

Question ID: | 11694054

Question Type:

Numeric Answer

Question:

0 ~ -~
uF 2198 4°F19g 92 6441 °edIo aaldml e

5
n/x

200V. 50 Hz AC @4 9% sdigioim| | x @ ¢lmd 699 |

50 W, 100 V Q92 gift g




Topic:

Physics-Section B

Item No:

55

Question ID:

11694055

Question Type:

Numeric Answer

1 m R¢] fUA G196% 1 A #601¢ 9QIE 6208 | 6108 dIF 9 688 2.0 mm? &°
AURS 9FsaIAs! 1.7 * 1075 Qm 6267, G108 J6GR RERRTE AGRIS @98l @R

Question: S
_ x10%°Neee |
(charge on electorn = 1.6 x 10717 C)
Topic: Physics-Section B
Item No: 56
Question ID: | 11694056

Question Type:

Numeric Answer

e A 99 296 Q96 @ A7IR 9IF URa p Cm - 9 0IF 9EE | dnaa 2Ineq
i 2 s
60989 019 x =—2 aGIEa §I6 688 @ R _ Vm'! 626 |
P

=

Question:
L 2

I

|

|
Topic: Physics-Section B
Item No: 57
Question ID: 11694057

Question Type:

Numeric Answer

0.9 kg @ 9. PEAISE 2ol G6T 6 621G 621D A, 22N 92 SHM @98 | 08 qudg
629 Ol @7 6969 124 g @ IR 68l @8 § &'

Question: ~ ~ A . o
@Uea oBliciml 19° @mkl A, 2idirled 9 wtw | J9 e 18 1 2, 6969 a lm
3 8
. 68qQ |
Topic: Physics-Section B
Item No: 58
Question ID: 11694058

Question Type:

Numeric Answer




@ edlela AIgdaad 9e (Fuae agends 25 x 10° Nm™?) 2I2ia 9664@ aid 60

Question: cm @° 6¢1IG1E 15 cm 26T, 91'9 989! A4 @066 18.0 x 10% N dader @@ gealdl
ceql | 9@ 69 914 9@ gica AIgaIsT . 96 aId @ faIoe um £2% |

Topic: Physics-Section B

Item No: 59

Question ID: | 11694059

Question Type:

Numeric Answer

1.5 m QUi gR g 61" 184 Qlsagen F=(12t— 34) N a¢ a8e Golsa goaie ¢

Question: JRUSR ( t § 626w 60 ALl AN ) | 9T 9@ @ mqgi T68 7T 199 26086 4.5 ke
m? 249" % Q96 960 Rl @ 69 92 AI9gsn. K @ gy 62% |

Topic: Physics-Section B

Item No: 60

Question ID: 11694060

Question Type:

Numeric Answer

m 944 9 eng dul 9oeg TsR 9e° 25 Y9 2 m 998 9 NG SR G99

Question: 0 emldlam E‘J‘E]‘aﬁa"@fl Glml | 2EEk Qs €Ll ﬂlﬁﬁﬁ“‘l 60 QFER . GAFIRE FIAU
QLE2ql @99 gO0 AGUS _ 689 |

Topic: Chemistry-Section A

Item No: 61

Question ID: 11694061

Question Type: | MCQ

G968 D-56@1% @ 230 ¢ U@ 924l 10.8% RIGT g9 66 a4 @82l | 92 9ad @

Question: 6CIRIGG 6208 AISITIG:
(@6: 9adas gea H.1:C.12:0.16)
A: 1.03
B: 2.06
C: 3.09
D: 5.40
Topic: Chemistry-Section A
Item No: 62
Question ID: 11694062
Question Type: | MCQ




FCI60 9RIT Q96 GRAINE:

GQ@T: 0,, Cu’™, Fe¥ 99@1a 69¢ FIal gI° RI6S R8s 2218 I9° §IR1a 638 Q
Question: QLIS GTEQ GARIRING 62T |

@94 II: NaCl, H,0 99912 688 @ QUale @665 9aR1RIad 621922 |

QU6aIe 98 ARINES, §¢ gee GRT FRIQ Ag0Ig 9aeRea § § 98 /9g |

A: eeg GgRI9e° IQa 11 OF |

B: eag 9@ 1 9e° §9@ 11 O g6% |
C: 9@ 1 0% @3 @9@ I1 O g6 |
D: 398107 g6% @8 G9& 11 0% |
Topic: Chemistry-Section A

Item No: 63

Question ID: 11694063

Question Type: | MCQ

GE6R 9RT 998 QULINE: 6315~ 9Eel A 1e° a5y § @Ied R FIF6a G106
FIKIeE |

Question: Qw9 A: TIDELISTT UAClg A 25 KANS §13, MYV Q 25 IR PRFIER Y |
@198 R: Q917 0UaEea gal a8e gens 48 aarld gale Q69 9o adaeld |
RUCAIS TG ARINER, 7¢ Y8 I9F F1UQ 40T @9 T § 046 *9g |

A: 292 A G R 6208 964, 96° R, A @ 90® QUISHI 2163 |
B: 2@g A 0 R 6228 994. 19° R, A 9 90 QI8 2163 |
C: A 964 @3 R 964 g6¢ |

D: A 964 6% R 96Y |

Topic: Chemistry-Section A

Item No: 64

Question ID: 11694064

Question Type: | MCQ

FCI60 9RIC @9R QIR 661N 96l A e° 2GY § Rled R FIdsa GIF6
FULIDE |

986! A: 9586 2ae CH, 997168 SO, § 26 0 Q160 2RIEHIES @64 |
@196l R: ¢ 912w cIg9igl 8 gid gee 9996 2aa 9I0l Ge8dIe 2x6slds
62IRAZ |

QU6aIe 98 AURINER, §¢ gea I9F F1uQ 907 @9 T q 046 /93 |

Question:

A: 29 A B R 699F 0. 99° R, A Q 940 QUISN 2169 |




2@l A B R 6998 0. 1e° R, A @ 940 QIS 216% |

C: A 0% @3 R 0@ g6 |
D: A0 ge¥ R OG |
Topic: Chemistry-Section A
Item No: 65

Question ID: 11694065

Question Type: | MCQ

AgEdd! 919 A Q IR 2% @1 9@¢ o Yo'nla 2N e AFada] 9i9 B o 8% a@ld

Question: 9@¢l @ oI 989 AIF | A I9° B 4 2E9 g9a G660 AHG 6293 :

A: M,y =4Mp

B: Mg = 4M

C: M, = 8Mp

D: Mg = 8My

Topic: Chemistry-Section A

Item No: 66

Question ID: 11694066

Question Type: | MCQ

Question: il QB G 6908 ;

A: K @ gelel 21sq1eeaaa Yaif Na 9a° Li 0lg &¢ |

B: &% 6)d 66 Xe @ Ag0IQ V¢ gaf ALAFIBETAG IRIg Fel] |

c. QRAINIES G 37 8l 67198 Q2N ASAIDEFAR IRIG 38 IRAIHER GAIE
' 8@l 64138 Olq /91 |

D: Ga @ ga¢1 26RINs598 Ialg d-9R @ dedlkaa gaIe 30 gal 6¢ae OIg 2xe |

Topic: Chemistry-Section A

Item No: 67

Question ID: | 11694067

Question Type: | MCQ




GIRGS (G 670 J4I91E sasalad dig @ Gedlke din 9226 21 GIE?

A G069

B. ag@ad
Question: C. IgIe Q6884

D. faIea

E. dIeq

Q% 99R Q9E Crig 909 9eQ & § 998 @9g:

A B.D saaq
B: A.B.D.E 6999
C: B.D. E 6@
D: A, C.E 699
Topic: Chemistry-Section A
Iltem No: 68
Question ID: 11694068
Question Type: | MCQ

FCI6R 9RE G96 GRINE:
Q9@ [: 2I96QIsET 6U6aIgIRG 2ag A Ya° AIeld AQEa FIew I3 FIF K64 1.

Question: T
Q9& I1: 298 K 60 @IR6Ll6aT 606IgIR% @ 615@ D,0 OIg @41 |
QU6AIS I98 2IREA, 7Y Yoa I9F AP A0R 069 § § 949 K9g |

A: P9 G9a I 1e° 99a IT 4o |

B: 2ad 39R 1 9e° 59& II 964 §6% |

C: 9@ [ 994 @9 996 I1 964 g6 |

D: 398 [ 994 g6 @3 G9a I1 9a |

Topic: Chemistry-Section A

Item No: 69

Question ID: 11694069

Question Type: | MCQ

Question:

FCI6R 9RI6 9@ Q2IRIRE

Q9@ I: Be 9a° Al @ 6]IQ19¢ gew 64 Cl-69g A°0eq! 28 Ye° @ed 6aaw GIaa6a
FIedIa 9e° gad A9 I8 IF @6S |

29@ II: Be 92° Al @ 2196Q1919@ 89 e S0 60 9GO 6219 6a06ME 1a°
2NQTERT AR G2UZ |

RUEAIS §9Q ARIVER, 7Y Y99 998 (g 90 264 § § 999 99F |




20 9@ 1 9e° 998 I1 O |

2ae 9@ 199° 39Q II O 6% |

39@ [ 0 @3 9@ I1 O g6 |

9|0 | @ >

3981 0% g6¢ @3 @R 1109 |

Topic: Chemistry-Section A
Item No: 70

Question ID: 11694070

Question Type: | MCQ

Question: T @ 666 ATNIG AAATT 93 60 AN A°GNID AFERT TRNIE 2F?
AREATATAL U]

B: 2RSANTATA 25)

C: TASTIOR 2Ag),

D: QIPERUTASTIOGR 2E)

Topic: Chemistry-Section A

Item No: 71

Question ID: | 11694071

Question Type: | MCQ

Q68 995 39@ YIRS
29a I: 296& (1) eeegaw @ aAgia K,Cr,0, 1e° gade KMnO, 994117 g 1, 64

Question: QRIFRIER TG K0S FASI 2T 1.
@9a II: CIEFIERE AILG 9g6sa 2Ag9aela Ue° pr—pr G8668 6o G213 |.
RUEAIS T9Q ARINER, 7Y Y99 I9F FEQ A0FR9 T § 94T 99T |

A: eeg 39R 19e° I9R 1T O |

B: 2a 398 1 9e° 39@ I O g6¢ |

C: 39a 1 0@ @g G9@ I1 O g6% |

D: 3981 0% ge¢ @3 @9R 11 0% |

Topic: Chemistry-Section A

Item No: 72

Question ID: | 11694072

Question Type: | MCQ

Question:

Mn, 0, 68 2612 Mn=0 989 2°84l 6293 1

A:

4




B: 5

C: i)

D: 3

Topic: Chemistry-Section A
Item No: 73

Question ID: 11694073

Question Type: | MCQ

SRSl I g Slmal II 98¢ fel2l;

Fla@l I

99ge

QIR II

6QU9 /Q1PR a9l

A. d575(=500 ppm)

Rt [aie | (eI ]

Question: B. QI6EE ( =50 ppm) II. 912 @ QIFIF A @Ic
C. &121(=30 ppb) III. 699 989
D. 6¢IGI9@ (> 2ppm) IV g6 od

Q¢ 0o e fug 907 986  § 998 @03 |

A: A-IV, B-1, C-I1, D-III

B: A-TIL, B-1, C-IV, D-II

C: A-TI, B-1V, C-1, D-III

D: A-II, B-1V, C-TI1, D-I

Topic: Chemistry-Section A

Item No: 74

Question ID: | 11694074

Question Type: | MCQ




FCI60 9RIE @96 QIR 6916 9E6l A e° 255 @104 R 91967 Q196 aUITE
!

9&el A: [6] agyaa, [8] 21g4ae. da-[10] 2Igyae 9e° g1g-[10] 2Ig4Re 6208a
QEFES 2ASAUFNTR. FFTEAUFNTR, ZSACNTS 1Q° FRTUEAANFTF |

Question:
II
[6] Annulene [8] Annulene
cis = [10] Annulene
@194 R: 260IF1TR. 2F2AEAUFNTR 008 & 1 2SS 6228 A0s101a 294l |
U6 QA ARINEL, 7Y | I9F e 49019 SAYS 99 T § 998 793 |
A 2@ A B R 6298 09 99° R, A Q Q0% QYIS 263 |
B: 299 A B R 6208 09 98° R, A @ 907 @4Isl g6 |
C: A O% &g R O g6 |
D: AOwgez @g ROF |
Topic: Chemistry-Section A
Iltem No: 75
Question ID: 11694075
Question Type: | MCQ
CH,OH
7 & MNal .
Question: +HC > A B
OH _
PUEAUD YoTIee 29I B 6298 :
CH, I
A:
OH
CH,I
B:
I




CH,CI

C:
OH
CH,CI
D:
|
Topic: Chemistry-Section A
Iltem No: 76
Question ID: 11694076
Question Type: | MCQ

SRSl I g Slaal IT 286 dl2l;

SRl I IR I 11
Qe eQde F19
A GeQin 9o gdegeee] I oo
alala
Question: B. 13-QI0I9iee ¥e° 2Wefee I 6RIEIIAIL
AL9gRR
C.Qloea o 9fEa 9e° aifa I 9I-S
e
D.Qaea @ afi|aa 99y IV 6eqq
GeRERD 2iE]
G% 0oR GaF g 907 986 & § 008 @ag:
A A-IL B-IIL C-IV. D-I
B: A-IL B-IIL C-1. D-IV
C: A-IL B-I. C-IIL D-IV
D: A-IIL B-IL. C-IV. D-I
Topic: Chemistry-Section A




Iltem No: 77

Question ID: 11694077

Question Type: | MCQ

si@al ‘X’ Zell< 2dlea 23 19 Q96 AFRISad 6219 Tl 0lm @9 1 Qg

Question: geeia 6asaIdan 92 9EFa 6219 @8 A9 U968 AF1R 2912 &9 | 9wal ‘X’ 6208
A: 2lERETERT

B: 26w 6565

C: ZIgIRS 2Ag),

D: FEGIE06EIT

Topic: Chemistry-Section A

Iltem No: 78

Question ID: 11694078

Question Type: | MCQ

Question:




IRl I g Slaal II 285 fel2l;

QIR IT
L 9619 QI9g 98 @98l G
OH IL 2Ig S2IE G601 Olg 550 G4l
Elx@ F01 |
B.
CH; CH,4
Cl
NHNH, 111 919 d1EILIe
c @/\/
(I‘J IV &1g1¢] Qlas
N
D. NH
s/
7N
O O

G¢ geR eF fig 90w 989 & g oU8 @ag:

A: A-TV, B-III. C-I1. D-I
B: AL B-I. C-IL. D-IV
C: A-IIL B-IV. C-1. D-IT
D: AL B-1. C-IV. D-IT
Topic: Chemistry-Section A
Item No: 79

Question ID: 11694079

Question Type: | MCQ

Question:

62601212 QEIR] TRl FISRISTS 2R 69 0.45 g 6596:1IGw 0.36 ¢ AgBr 694l |
cdld@sa 691617 @ do9el Q196 @8 | (67IRIQ 994 AgBr = 188 g mol™!. Br:80)

A:

34.04%




B: 40.04%

C: 36.03%

D: 38.04%

Topic: Chemistry-Section A
Item No: 80

Question ID: 11694080

Question Type: | MCQ

SRSl I g Slmal II 98¢ fel2l;

eI I

Pl I1

A 6950 deqER ISR

I dieifla aee enal

Question: B. OO 6515196 gRgLl II. 212620 6TT
C. QRITa 2R 955l III. 2@ed oGata
D. @UFNIE 2IEERuE IV. 2IQEAIENETE & RANGAI Y5

Q¢ gOR Q9T FkIg A0% 989 &' g 0Ua @9g:

A: A-IV, B-IIL, C-II. D-I

B: A-IV, B-IL. C-1, D-III

C: A-IIL B-IV, C-1, D-II

D: A-IV, B-IIL, C-1, D-II

Topic: Chemistry-Section B

Iltem No: 81

Question ID: 11694081

Question Type:

Numeric Answer

Question:

10 mL @ Fe’™ 9Qdl § 2¢)la claie16a 2g1ae Tia 20 mL @ 0.02 M K,Cr,0, §&4l

g 929 QAT | Fe?™ 924 @ 67IRIAE 6298 < 102M |
Topic: Chemistry-Section B
Iltem No: 82
Question ID: 11694082

Question Type:

Numeric Answer




2NO + 2H, — N, + 2H,0

BU6aIe gagal g 800°C 6 AGHIRE FAIIDE | GG GaNg 66gRee G2IaIag |

Bl QE@@Q S1E ﬂl"&@@ =IE] QIQQQ Ll
H- / kPa NO/kPa —dnp
- ;\—p}/k?a s
Question: dt |
1 65.6 40.0 0.135
2 65.6 201 0.033
3 386 656 0214
4 192 65.6 0.106
goTa @ @1 NO 2gaie] 6288
Topic: Chemistry-Section B
Item No: 83
Question ID: 11694083

Question Type:

Numeric Answer

GCRGE Aeg AGeTR1N 9569 ARG (Jew) 8 2°8Y 629F

Question:
Na,0, KO,. NO,. N,0. ClO,. NO. S0O,. Cl,0
Topic: Chemistry-Section B
Item No: 84
Question ID: 11694084

Question Type:

Numeric Answer

@ 294 gid @ 99 ¢1a6a 67IRIa SITIES! 6298 20.785 TK 'mol ™! 1 300K @

Question: 500 K g 985 @6m 2Igeald 9@ ateas 6298 5000 T | 84 2199660 19 @ 6715
Qs 6208 | [Facon gd a°eil ] (@8: R=8.314 TK lmol ™)

Topic: Chemistry-Section B

Item No: 85

Question ID: 11694085

Question Type:

Numeric Answer

Question:

2ld) *E@ G2 A Yel 9eia @899 491 Y 9RIe/ AING Jeea 2ol 6268 |
CN-, NOY, 0,, 057, 0,2

Topic: Chemistry-Section B

Item No: 86




Question ID: | 11694086
1C_)ue§t|on Numeric Answer
ype:
310K 68 CaF, @ 9966 941196] 6268 2.34 » 10~ g/100 mL | CaF, @ 9I9Y6] Q&I 6208 «10% (mol/L)* |
Question:
CIRIEISTECER CaF, =78 g mol™})
Topic: Chemistry-Section B
Item No: 87

Question ID: 11694087

Question Type: | Numeric Answer

CoCl3(NH;),; 9656 &al & 959 994 6 OaQI@6! 1:1 3g4e S698y 9T aigaal

Question: s i

CE6m A ra gigfle 6dTel CEeE |
Topic: Chemistry-Section B
Item No: 88

Question ID: 11694088

Question Type: | Numeric Answer

EMnO, e° Agime 2le] @ 2Ll Fllif1ea 2APAIdn eLlsa 2s1eaEd 6al FPE |

Question: S o

@lEdl 2990 deeas c9eE I
Topic: Chemistry-Section B
Item No: 89

Question ID: 11694089

Question Type: | Numeric Answer

@ g6aq 2°7ITRa 2EAINIA AGAS! +12.6° IQ° (+) AL @ 2ad gdi 6268

Question: W s

+30° 192 Q196 Aleminiel Jac] 6Leg % |
Topic: Chemistry-Section B
Item No: 90

Question ID: 11694090

Question Type: | Numeric Answer




Question:

ARG YoTA 69
50,1 OH

_ Oleum | @ h...uu{ﬂXCESSI @

geis geRdl Uie 9Ie d6a9l 60% e° $o1e 9ael dia 50% | 94 gagw ale
66IS 9DI6Q 9YIGR 9199%! 6298 _ % | [Faeen gd assu ]




